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220 PAA3905 _lib /143

int begin()

int readMotion(int *dX,int *dY);

SUEBE RS B A setup() AT

S EXY 2 R G B BRI, A ER HopMode L4
1:High light 2:Low light 3:Very low light

RS BB 51, £ R ER D10, A 8K lopMode L RTRFS)

—>| int readMotion(motionDataT *motionX) 1High light 2:Low light :Very low ligt
. int getDeltaX() readMotion().” &,z HlreadMotion’& I Ay X2 FE
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// HUB-OMT & HUB5168+ arduino demo program

/I design by Tom,Yen 2024/05/16

#define DEBUG

#ifdef DEBUG

#ifndef DEBUG_H

#define DEBUG_H
#include <stdio.h>

#include <stdarg.h>

#define DBGI Serial.begin(115200)
#define BRK {char bugSbuf[128]; \
sprintf(bugSbuf,"Break @%s:%d", FILE , LINE );\
Serial.printIn((String)bugSbuf); \
while (0==Serial.available()); \
while (Serial.available()) Serial.read(); \

Serial.println("Go!!");}

#define DBGC(...) {char bugSbuf[250];sprintf(bugSbuf, VA ARGS );Serial.printIn((String)bugSbuf);}




#endif // DEBUG_H

#endif // DEBUG

//#define BRUST_READ

#include "Wire.h"

#include <MPUG050_light.h> // MPU6050 G-sensor F2£XJEE

MPU6050 mpu(Wire); /I 12C MPU-6050 #3(4

#include "hub5168p.h"
#include "PAA3905_lib.h" /I {EFE PAA3905 F2 ==

long timer = 0;

PAA3905 paa;

void setup() {
Serial.begin(115200);
Wire.begin();
byte status = mpu.begin(); /IF&4A MPU6050
DBG("MPU6050 status: %d", status);
while(status!=0){ } // stop everything if could not connect to MPU6050
DBG("Calculating offsets, do not move MPU6050");
delay(1000);
mpu.calcOffsets(true,true); // gyro and accelero
DBG("Done!");

DBG("PAA Error %d" paa.begin()); /44 PAA3905

void loop() {
mpu.update();
if(millisO - timer > 100){ 114 0.1 FHEEHL PAA390S K MPU60S0 EHIZS &
int dx=0,dy=0,0p=0;  // op 0: nothing, 1: high light 2: low light 3:very low light,dx:PAA3905 X ifi7= F(H,dy: PAA3905 Y #fi== F(H
uint8_t sql=0; /1 PAA390S FmkHkE
uint32_t sht=0; /I PAA3905 TRF(E

#ifndef BRUST_READ

if (op=paa.readMotion(&dx,&dy)){ //FEHL PAA3905 &k}




paa.getSqualShutter(&sql,&sht);

#else
motionDataT mD;
if (op=paa.readMotion(&mD)){
paa.getSqualShutter(&sql,&sht);
dx=paa.getDeltaX();
dy=paa.getDeltaY();
}
#endif

/I %t HUB-OMT #0R K8 MPUG0S0

// mpu.getAngleX() : FEHL MPU6050 X #ifi¥f 28 18, mpu.getAngleY() : 3EH MPU6G050 Y #li¥F 28 1A

// mpu.getAngleZ() : EEL MPU6050 Z #ili¥f 28 J1 A%, mpu.getAccX():z8H MPU6050 X il &

// mpu.getAccY():2EHL MPUG6050 Y #ififil2E /&, mpu.getAccZ():zEH MPU6050 Z Sl e

DBG("OP=%d Sql=%d Sht=%d Dx=%d Dy=%d Temp=%f angleX=%f angleY=%f angleZ=%f accX=%f accY=%f
accZ=%f",op,sal,sht,dx,dy,mpu.getTemp(),mpu.getAngleX(),mpu.getAngle Y(),mpu.getAngleZ(),mpu.getAccX(),mpu.getAcc Y (), mpu.getAccZ());

timer = millis();

}

// Structure for motion data

typedef struct // Burst reading from register 0x50,motionDataT ZEIHE4EfE
{
uint8_t motion; // BYTE 0 :4Ef%48) 158
uint8_t observation; /BYTE 1 {84
uint8_t deltaX L; // BYTE 2 X i 87 F{H Low byte
uint8_t deltaX H; // BYTE 3 X §ilif% 87 2 {H High byte
uint8_t deltaY L; // BYTE 4Y §lif28h7= 518 Low byte
uint8_t deltaY H; // BYTE 5Y §ilif2@h7 £{g High byte
uint8_tcsd_type; // BYTE 6
uint8_t squal; // BYTE 7 FRIEKEE
uint8 trd sum; // BYTE 8
uint8_trd max; // BYTE 9
uint§ trd min; //BYTE 10

uint8_t shutter_hh; // BYTE 11 9 {EE S byte
uint8_t shutter h; // BYTE 12 {R[9E [H] byte
uint8_t shutter 1; // BYTE 13 9 {E 521K byte

} motionDataT;
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OP=1 8gl=130 Sht=17437 Dx=-105 Dy=-62 Temp=30.200001 angleX=-1.580984 angle¥=2.887826 anglez=4254.057129% accX=-0.010175 acc¥=
8ql=131 sht=24693 D 129 D 108 Temp=30.247059 angleX=-2.484770 angleY=0.522387 anglez=4261.943848 accx=-0.043134 accy
Sht=19875 Dx=-128 Dy=-112 Temp=30.200001 angleX=-3.523004 angle¥=-1.862683 anglez=426€9.208496€ accX=0.080157 accy
Sht=13444 Dx=-52 Dy=-67 Temp=30.247059 angleX=-7.910120 angle¥=-8.412372 angleZ=4273.645996 accxX=0.261309 accY=—
Sht=17131 Dx=67 Dy=34 Temp=30.200001 angleX=-12.412841 angle¥=-13.311752 anglez=4271.300781 accX=0.1€6338 accYy:
Sht=12408 Dx=180 Dy=123 Temp=30.247059 anglexX=-9.39%0031 angle¥=-9%.660017 angleZ=4264.084961 accX=0.040850 accY=
op=1 Sql=13% sht=19989 Dx=193 Dy=121 Temp=30.200001 angleX=-6.006365 angle¥=-4.337527 anglez=4255.292480 accxX=-0.018720 accy=
8ql=129 Sht=18450 Dx=142 Dy=105 Temp=30.200001 angleX=-0.060344 angle¥=2.226433 anglez=4247.277344 accxX=-0.082685 accY=0
Sht=23328 Dx=56 Dy=83 Temp=30.1529%41 anglex=2.395800 angle¥=4.207885 anglez=4242.326660 accx=-0.127363 accy=0.12
OP=1 Sgl=112 Sht=33041 Dx=15 Dy=54 Temp=30.152%41 angleX=6.603043 angle¥=7.499209 anglez=4241.91503% accX=-0.118085 accy=0.14
OP=1 Sql=112 Sht=60104 D: 48 Dy=-14 Temp=30.200001 angleX=2.900779 angle¥=5.877128 anglez=4246.306641 accX=-0.100507 accy=0.
OP=1 Sgl=121 Sht=48377 Dx=-93 Dy=-56€ Temp=30.200001 angleX=3.250061 angle¥=7.510315 anglez=4253.651367 acc¥X=-0.142011 accy=0.
OP=1 Sql=136 Sht=26750 Dx=-123 Dy=-103 Temp=30.200001 angleX=-0.494199% angle¥=5.126518 angleZ=4264.607422 accX=0.016680 accY=
op=1 Sql=131 sht=229%67 Dx=-152 Dy=-127 Temp=30.152941 anglex=-4.567101 angle¥=0.2%0315 anglez=4275.063%65 accxX=0.067350 accy=
OP=1 Sgl=9%8 Sht=18486 Dx=-147 Dy=-115 Temp=30.200001 angleX=-3.993241 angle¥=-1.877622 anglez=4284.709961 accX=0.093340 acc¥=
oP=1 Sql=115 sht=18127 Dx=-34 Dy=-48 Temp=30.152941 angleX=-7.017871 angle¥=-5.4242%4 anglez=4292.442383 accx=0.187579% accy=—
OP=1 Sgl=122 Sht=33227 Dx=3 Dy=-23 Temp=30.105883 angleX=-14.287989 angle¥=-12.097181 anglezZ=4294.582520 accX=0.230547
OP=1 Sql=107 Sht=33227 Dx=36 Dy=47 Temp=30.1529%41 angleX=-11.452408 angle¥=-11.415640 anglez=4290.225586 accX=0.149249
OP=1 Sgl=134 Sht=25669 Dx=144 Dy=114 Temp=30.152941 angleX=-6.262481 angle¥=-7.843159 anglez=4282.668457 accX=0.0301e7
OP=1 Sgl=126 Sht=12525 Dx=209 Dy=15% Temp=30.105883 angleX=-2.163802 angle¥=-4.450238 angleZ=4273.825195 accX=0.058428 accY¥=—
op=1 Sql=136 sht=21439 Dx=165 Dy=30 Temp=30.152941 anglex=0.541328 angle¥=0.010636 anglez=4265.977051 acc¥=-0.0%8310 accy=0.0
OP=1 S8gl=138 Sht=18770 Dx=80 Dy=50 Temp=30.105883 angleX=7.663530 angle¥=7.095809 anglez=4262.000488 accX=-0.1669%14 accY=0.16
oP=1 Sql=138 sht=22248 Dx=-21 Dy=-4 Temp=30.105883 angleX=6.187955 angle¥=8.79%4383 anglez=4263.901855 accx=-0.126142 accy=0.0
OP=1 Sgl=136 Sht=20295 Dx=-74 Dy=-16 Temp=30.1529%41 angleX=2.876786 angle¥=6.189517 angleZ=4269.988281 accxX=-0.0€0957 accy=0.
OP=1 Sql=129 Sht=18586 Dx=-129 Dy=-67 Temp=30.247059 angleX=1.116972 angle¥=4.495325 anglez=4278.639648 accX=-0.022871 accY¥=—
OP=1 Sgl=143 Sht=23317 Dx=-150 Dy=-32 Temp=30.200001 angleX=-1.987063 angle¥=1.516376 anglez=4287.221680 accX=0.013750 acc¥y=—
OP=1 Sql=100 Sht=20256 Dx=-149 Dy=-118 Temp=30.105883 angleX=-4.437061 angle¥Y=-0.483679% anglez=4295.924805 accX=0.063555 accyY
op=1 Sgl=118 sht=14557 Dx=-87 Dy=-65 Temp=30.200001 anglexX=-4.224885 anqgle¥=-0.457071 anglez=4302.781250 accxX=0.058917 accy=-
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OP=3 Sgl=124 Sht=83498 Dx=0 Dy=1 Temp=30.388235 angleX=-8.032142 angle¥=0.334101 anglez=3234.302734 accX=-0.010664 accY=-0.15
OP=3 Sql=115 sht=83498 Dx=-1 Dy=-1 Temp=30.341177 angleX=-8.088409 angle¥=0.349815 anglez=3235.356934 accx=-0.0113%6 accy=-0.
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.341177 angleX=-§.062437 angle¥=0.317607 anglez=3236.407959 accX=-0.008710 0.156384 a
OP=0 Sqg Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.078658 angle¥Y=0.327843 angleZ=3237.429199 accX=-0.004804 accY=-0.155652 a
OP=3 Sgl=121 Sht=83498 Dx=0 Dy=-1 Temp=30.435293 angleX=-85.075955 angle¥=0.307793 anglez=3238.452881 acc¥X=-0.010175 accy=-0.1
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.29%4117 angleX=-8.081848 angle¥=0.333662 anglez=3239.505371 accX=-0.012617 0.154919 a
op=0 Sqgq Sht=0 Dx=0 Dy=0 Temp=30.341177 anglex=-8.078850 angle¥=0.31021%9 anglez=3240.521973 accX=-0.010175 accy=-0.154431 a
OP=3 S8gl=119 Sht=83498 Dx=0 Dy=2 Temp=30.388235 angleX=-8.079874 angle¥=0.292667 anglez=3241.542236 accX=-0.005537 accY=-0.15
OP=3 Sql=122 sht=83498 Dx=0 Dy=-1 Temp=30.435293 angleX=-8.074427 angle¥=0.3389%16 anglez=3242.572021 accX=-0.015058 accy=-0.1
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.086731 angle¥=0.306054 angleZ=3243.617432 accX=0.002032 accy=-0.158337 ac
OP=3 Sql=119 Sht=83498 Dx=-1 Dy=0 Temp=30.294117 angleX=-8.076867 angle¥=0.303469% anglez=3244.640625 accX=0.001788 accY=-0.15
OP=3 Sgl=126¢ Sht=083498 Dx=1 Dy=0 Temp=30.341177 angleX=-8.09693€6¢ angle¥=0.308113 anglez=3245.687988 acc¥X=-0.005537 accy=-0.15
OP=0 Sql=0 Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.089166 angle¥=0.337546 angleZ=3246.73779%3 accX=-0.008710 accY=-0.156873 a
oP=3 Sqgl=120 sht=83498 Dx=0 Dy=-1 Temp=30.435293 angleX=-8.115975 angle¥=0.347%76 anglez=3247.760986 acc¥=-0.022382 accy=-0.1
OP=0 S8gl=0 Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.117803 angle¥=0.347328 angleZ=3248.789795 accX=-0.014570 accY=-0.156628 a
OP=3 Sql=124 sht=83498 Dx=0 Dy=1 Temp=30.435293 angleX=-8.111391 angle¥=0.30%885 anglez=3249.811523 accx=-0.004560 accy=-0.16
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.097431 angle¥=0.309821 angleZ=3250.861084 accX=-0.014570 accy=-0.155652 a
OP=0 Sql=0 Sht=0 Dx=0 Dy=0 Temp=30.341177 angleX=-8.092950 angle¥=0.369095 angleZ=3251.889648 accX=-0.007246 accY=-0.153943 a
OP=3 Sgl=115 sSht=83498 Dx=0 Dy=-1 Temp=30.294117 anglexX=-85.106601 angle¥=0.351878 anglez=3252.908203 acc¥=-0.010175 accy=-0.1
OP=3 Sgql=121 Sht=83498 Dx=0 Dy=2 Temp=30.388235 angleX=-8.067528 angle¥=0.332838 anglez=3253.962158 accX=-0.014814 accY=-0.15
oP=3 Sql=118 sht=83498 Dx=1 Dy=-1 Temp=30.388235 angleX=-8.073043 angle¥=0.310567 anglez=3255.000977 acc¥=-0.008710 accy=-0.1
OP=3 8gl=127 Sht=83498 Dx=-1 Dy=0 Temp=30.341177 angleX=-8.112909 angle¥=0.297376 anglez=3256.058838 accX=-0.012861 accY=-0.1
OP=0 Sql=0 sht=0 Dx=0 Dy=0 Temp=30.341177 angleX=-8.084867 angle¥=0.299107 anglez=3257.112305 accx=-0.012861 accy=-0.151990 a
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.388235 angleX=-8.089315 angle¥=0.304468 angleZ=3258.133789 accX=-0.007734 accy=-0.156384 a
OP=0 Sql=0 Sht=0 Dx=0 Dy=0 Temp=30.341177 angleX=-8.076437 angle¥=0.314021 angleZ=3259.159180 accX=-0.000654 accY=-0.161755 a
OP=0 Sgl=0 Sht=0 Dx=0 Dy=0 Temp=30.341177 angleX=-§.091857 angle¥=0.272760 anglez=3260.179688 accX=-0.005537 accy=-0.156140 a
OP=3 Sql=122 Sht=83498 Dx=1 Dy=0 Temp=30.341177 angleX=-8.115088 angle¥=0.331843 anglez=3261.203857 accX=-0.014326 accY=-0.16
oP=0 Sgl=0 sht=0 Dx=0 Dy=0 Temp=30.43529%3 angleX=-8.119453 angle¥=0.346744 anqlez=3262.232910 accX=-0.0008398 accy=-0.157849 a
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